			AKI FUNDI KIZE LISI	
			A - HANDICAP (700 and over)	
]	Pay 1 out of every 5 entries	
			10 Teams x 4 Bowlers at \$11 each \$	440.00
			2,706 - Palm Bay - Boys Are Back In Town	
			Sebastian Gerace, Wesley Stalvey	
1st (\$75/each)	\$	300.00		
(+ · • · • • • • • • • • • • • • • • • •	т Т			
			2,675 - River - Da Wonder Jits	
2 = 1 (0 + 0 - 1)	¢	1.00.00	Harcourt Husbands, Edrick Colon	
2nd (\$40/each) Total	\$ \$	160.00 460.00	Anderson Aiken, Kegan Hamilton	
Total	Þ			
			M - HANDICAP (600 to 699)	
			Pay 1 out of every 5 entries10 Teams x 4 Bowlers at \$11 each	440.00
			10 Teams x 4 downers at \$11 each \$	440.00
			2,649 - Palm Bay - The Sloths	
			Kara Brown, Kelly Brown	
1st (\$75/each)	\$	300.00	Kalani Hannum, Jayden Runkel	
			2,638 - Bowlers - Team #8	
			Mark Morgan, Cooper Brechtel	
2nd (\$40/each)	\$	160.00	William Jones, Isiah Soto	
Total	\$	460.00		
1000	¥		M - HANDICAP (480 to 599)	
			Pay 1 out of every 5 entries	
			8 Teams x 4 Bowlers at \$11 each \$	352.00
			2,766 - River - Rapid Bowlers	
	¢	200.00	Isaac Miller, Bella Baden	
1st (\$75/each)	\$	300.00	Lily Kennedy, Tyler Durham	
			2,706 - Palm Bay - Up and Comers	
			Aiden Elrod, Cooper Kunkel	
2nd (\$40/each)	\$	160.00	Alyssa Clark, Brooke Rhoads	
Total	\$	460.00		
			I - HANDICAP (479 and under)	
]	Pay 1 out of every 5 entries	
			11 Teams x 4 Bowlers at \$11 each \$	484.00
			2,713 - Palm Bay - Pin Dominators	
			Evan Elrod, Brantley Greene	
1st (\$75/each)	\$	300.00	Dustin Busse, Luke Irvine	
	т Т	200100		
			2,670 - Palm Bay - No Pin Left Standing	
2nd((10)/2nd)	¢	160.00	Makayla Schiff, Raegan Mark Robert Moren, Ir. Joshua Flores, Roseria	
2nd (\$40/each)		160.00	Robert Moran, Jr, Joshua Flores-Rosario	
Total	\$	460.00		

		LES - HANDICAP (350 and over) Pay 1 out of every 5 entries
		Fay Tout of every 5 entries
		21 Doubles x 2 Bowlers at \$11 each \$462.00
1st (\$100/each)	\$ 200.00	1,640 - Kaitlyn Knight / Ian Harmon
2nd (\$60/each)	\$ 120.00	1,429 - Jennifer Chiarillo / Chloe Wood
3rd (\$40/each)	\$ 80.00	1,404 - TJ Sarko / Ian Giguere
4th (\$30/each)	\$ 60.00	1,402 - Harcourt Husbands / Kegan Hamilton
Total	\$ 460.00	
		BLES - HANDICAP (300 to 349) Pay 1 out of every 5 entries
		20 Doubles x 2 Bowlers at \$11 each \$440.00
1st (\$100/each)	\$ 200.00	1,464 - Dillon Lynch / Aiden Arrington
2nd (\$60/each)	\$ 120.00	1,433 - Casey Taylor / Jake Taylor
3rd (\$40/each)	\$ 80.00	1,401 - Kelly Brown / Jayden Runkel
4th (\$30/each)	\$ 60.00	1,384 - James McGill / Landyn Agront
Total	\$ 460.00	
		BLES - HANDICAP (240 to 299) Pay 1 out of every 5 entries
		ray 1 out of every 5 entries
		18 Doubles x 2 Bowlers at \$11 each\$396.00
1st (\$100/each)	\$ 200.00	1,481 - Donovan Aiken / Noah Luehrs
2nd (\$60/each)	\$ 120.00	1,414 - Asia Charles / Eliot Charles Jr.
3rd (\$40/each)	\$ 80.00	1,405 - Alyssa Clark / Brooke Rhoads
4th (\$30/each)	\$ 60.00	1,383 - Isaac Miller / Tyler Durham
Total	\$ 460.00	
		ES - HANDICAP (239 and under) Pay 1 out of every 5 entries
	L	
		22 Doubles x 2 Bowlers at \$11 each \$484.00
1st (\$100/each)	\$ 200.00	1,470 - Dustin Busse / Brantley Greene
2nd (\$60/each)	\$ 120.00	1,348 - Joseph Orsborn / Justiniano Liam
3rd (\$40/each)	\$ 80.00	1,297 - Lauren Greto / Haley Hefner
4th (\$30/each)	\$ 60.00	1,296 - Gavin Ham / Sean Dempster
Total	\$ 460.00	

	SINGLES	- HANDICAP, BOY (175 and over)	
	۰ ۲	Pay 1 out of every 5 entries	
		35 Singles at \$11.00 each \$ 385.0)0
1st	\$ 100.00	732 - Nicholas Fisher	
2nd	\$ 75.00	727 - Gavin Manion	
3rd	\$ 60.00	710 - Brayden Horvath	
4th	\$ 50.00	696 - Ian Harmon	
5th	\$ 40.00	690 - Aiden Walker	
6th	\$ 30.00	684 - Harcourt Husbands	
7th	\$ 25.00	683 - Wyatt Sylvester	
Total	\$ 380.00		
		S - HANDICAP, BOY (150 to 174)	
		Pay 1 out of every 5 entries21 Singles at \$11.00 each\$231.0	00
			<i>,</i> ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
1st	\$ 100.00	734 - Nolan Wood	
2nd	\$ 75.00	705 - Liam Wahl	
3rd	\$ 50.00	697 - James McGill	
4th	\$ 25.00	683 - Joseph Pilieci	
Total	\$ 250.00		
		S - HANDICAP, BOY (120 to 149) Pay 1 out of every 5 entries	
		24 Singles at \$11.00 each \$ 264.0)0
1st	\$ 100.00	777 - Isaac Miller	
2nd	\$ 75.00	770 - Joshua Flores-Rosario	
3rd	\$ 60.00	769 - Noah Luehrs	
4th	\$ 40.00	743 - Cooper Kunkel	
5th	\$ 25.00	732 - Clayton Davenport	
Total	\$ 300.00		

		• HANDICAP, BOY (119 and under)	
		Pay 1 out of every 5 entries	
		24 Singles at \$11.00 each \$	264.00
1st	\$ 100.00	748 - Dustin Busse	
2nd	\$ 75.00	718 - Liam Justiniano	
3rd	\$ 60.00	711 - Ryder Switzer	
4th	\$ 40.00	709 - Tyler Morin	
5th	\$ 25.00	670 - Braeden Gaffney	
501	\$ 25.00	670 - Maxwell Hinman	
Total	\$ 325.00		
		- HANDICAP, GIRL (175 and over)	
]	Pay 1 out of every 5 entries	
		11 Singles at \$11.00 each \$	121.00
1st	\$ 100.00	713 - Kaitlyn Knight	
2nd	\$	688 - Brooke Street	
Total	\$ 150.00		
		S - HANDICAP, GIRL (150 to 174)	
		Pay 1 out of every 5 entries	142.00
		13 Singles at \$11.00 each \$	143.00
1st	\$ 100.00	716 - Rylee Moran	
2nd	\$ 50.00	700 - Kelly Brown	
3rd	\$ 25.00	692 - Alexis Meadows	
Total	\$ 175.00		
		S - HANDICAP, GIRL (120 to 149)	
]	Pay 1 out of every 5 entries	
		9 Singles at \$11.00 each \$	99.00
1st	\$ 100.00	799 - Brooke Rhoads	
2nd	\$ 50.00	725 - Khloe Street	
Total	\$ 150.00		

	SINCLES	HANDICAP, GIRL (119 and under)
		Pay 1 out of every 5 entries
		21 Singles at \$11.00 each \$ 231.00
1st	\$ 100.00	713 - Aynilee McKay-Levine
2nd	\$ 50.00	700 - Delayna Sylvester
3rd	\$ 30.00	693 - Savannah McGill
4th	\$ 25.00	675 - Raegan Mark
Total	\$ 205.00	
		S - HANDICAP, BOY (175 and over)
		Pay 1 out of every 5 entries
	32 entries (S	\$2.00 taken from each event prize fund)
1st	\$ 55.00	2,183 - Ian Harmon
2nd	\$ 35.00	2,143 - Gavin Manion
3rd	\$ 30.00	2,133 - Harcourt Husbands
514	\$ 30.00	2,133 - Nicholas Fisher
4th	\$ 20.00	2,033 - Cayden Sylvester
5th	\$ 15.00	2,031 - TJ Sarko
6th	\$ 10.00	2,020 - Tyler Wickfelder
Total	\$ 195.00	
		TS - HANDICAP, BOY (150 to 174)
		Pay 1 out of every 5 entries
	21 entries (S	\$2.00 taken from each event prize fund)
1st	\$ 55.00	2,062 - Liam Wahl
2nd	\$ 35.00	2,004 - Landyn Agront
3rd	\$ 25.00	1,989 - Justin Osheim
4th	\$ 15.00	1,985 - Nolan Wood
Total	\$ 130.00	

ALL EVENTS - HANDICAP, BOY (120 to 149)						
Pay 1 out of every 5 entries 25 entries (\$2.00 taken from each event prize fund)						
		25 entries (\$2.00 taken from each event prize fund)			
1st	\$	55.00	2,267 - Joshua Flores-Roasario			
2nd	\$	35.00	2,195 - Isaac Miller			
3rd	\$	25.00	2,168 - Noah Luehrs			
4th	\$	20.00	2,166 - Donovan Aiken			
5th	\$	15.00	2,157 - Dillon Lynch			
Total	\$	150.00				
		ALL EVENT	S - HANDICAP, BOY (119 and under)			
			Pay 1 out of every 5 entries			
		23 entries (\$2.00 taken from each event prize fund)			
1st	\$	55.00	2,292 - Dustin Busse			
2nd	\$	35.00	2,090 - Liam Justiniano			
3rd	\$	25.00	2,030 - Gavin Ham			
	\$	15.00	2,021 - Ryder Switzer			
4th	\$	15.00	2,021 - Waylon Skeen			
	\$	15.00	2,021 - Brantley Greene			
Total	\$	160.00				
			S - HANDICAP, GIRL (175 and over)			
			Pay 1 out of every 5 entries			
		11 entries (a	\$2.00 taken from each event prize fund)			
1st	\$	55.00	2,152 - Jennifer Chiarillo			
2nd	\$		2,126 - Kaitlyn Knight			
Total	\$	85.00				
			TS - HANDICAP, GIRL (150 to 174)			
Pay 1 out of every 5 entries						
	13 entries (\$2.00 taken from each event prize fund)					
1st	\$	55.00	2,110 - Alexis Meadows			
2nd	\$	30.00	2,062 - Kelly Brown			
3rd	\$	15.00	1,991 - Rhaelina Wamsley			
Total	\$	100.00				

	ALL EVENTS - HANDICAP, GIRL (120 to 149) Pay 1 out of every 5 entries						
	7 entries (\$2.00 taken from each event prize fund)						
1st	\$	55.00	2,241 - Brooke Rhoads				
2nd	\$	30.00	2,130 - Isabella Baden				
Total	\$	85.00					
	A	LL EVENTS	S - HANDICAP, GIRL (119 and under)				
			Pay 1 out of every 5 entries				
		19 entries (\$2.00 taken from each event prize fund)				
1st	\$	55.00	2,016 - Aynilee McKay Levine				
2nd	\$	35.00	1,966 - Savannah McGill				
3rd	\$	25.00	1,957 - Autumn Messer				
4th	\$	15.00	1.950 - Raegan Mark				
Total	\$	130.00					

	32 Singles at \$5.00 each \$	160.00
\$ 55.00	2,183 - Ian Harmon	
\$ 35.00	2,143 - Gavin Manion	
\$ 25.00	2,133 - Nicholas Fisher	
\$ 20.00	2,046 - Harcourt Husbands	
\$ 15.00	2,020 - Tyler Wickfelder	
\$ 10.00	2,014 - Kevin Brown	
\$ 160.00		
		00.00
	18 Singles at \$5.00 each \$	90.00
\$ 40.00	1,713 - Landyn Agront	
\$ 25.00	1,646 - Tyler Durham	
\$ 15.00	1,633 - Liam Wahl	
\$ 10.00	1,615 - Anderson Aiken	
\$ 90.00		
		75.00
	15 Singles at \$5.00 each \$	75.00
\$ 40.00	1,709 - Joshua Flores-Rosario	
\$ 25.00	1,656 - Donovan Aiken	
\$ 10.00	1,589 - Casey Taylor	
\$ 75.00		
	• •	15.00
\$ 15.00		
	,	
\$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$ \$	ALL EVEN \$ 55.00 \$ 5.00 \$ 25.00 \$ 20.00 \$ 20.00 \$ 20.00 \$ 20.00 \$ 20.00 \$ 10.00 \$ 20.00 \$ 20.00 \$ 10.00 \$ 20.	\$ 55.00 2,183 - Ian Harmon \$ 35.00 2,143 - Gavin Manion \$ 35.00 2,143 - Nicholas Fisher \$ 20.00 2,046 - Harcourt Husbands \$ 15.00 2,020 - Tyler Wickfelder \$ 10.00 2,014 - Kevin Brown \$ 160.00 ALL EVENTS - SCRATCH, BOY (150 to 174) Pay 1 out of every 5 entries I8 Singles at \$5.00 each \$ \$ 40.00 1,713 - Landyn Agront \$ 25.00 1,646 - Tyler Durham \$ 15.00 1,633 - Liam Wahl \$ 10.00 1,615 - Anderson Aiken \$ 90.00 ALL EVENTS - SCRATCH, BOY (120 to 149) Pay 1 out of every 5 entries IS Singles at \$5.00 each \$ \$ 40.00 1,709 - Joshua Flores-Rosario \$ 25.00 1,656 - Donovan Aiken \$ 10.00 1,589 - Casey Taylor \$ 75.00 ALL EVENTS - SCRATCH, BOY (119 and under) Pay 1 out of every 5 entries \$ 5.00 ea

		ALL EVENT	FS - SCRATCH, GIRL (175 and over)	
]	Pay 1 out of every 5 entries	
			11 Singles at \$5.00 each \$	55.00
1st	\$	35.00	2,015 - Kaitlyn Knight	
2nd	\$	20.00	1,942 - Jennifer Chiarillo	
Total	\$	55.00		
			VTS - SCRATCH, GIRL (150 to 174)	
]	Pay 1 out of every 5 entries	
	1		11 Singles at \$5.00 each <mark>\$</mark>	55.00
1st	\$	35.00	1,690 - Alexis Meadows	
2nd	\$	20.00	1,585 - Kelly Brown	
Total	\$	55.00		
		ALL EVEN	TS - SCRATCH, GIRL (120 to 149)	
]	Pay 1 out of every 5 entries	
			6 Singles at \$5.00 each \$	30.00
1st	\$	30.00	1,731 - Brooke Rhoads	
Total	\$	30.00		
	1		S - SCRATCH, GIRL (119 and under)	
]	Pay 1 out of every 5 entries	
			7 Singles at \$5.00 each \$	35.00
1st	\$	35.00	1,206 - Aynilee McKay-Levine	
Total	\$	35.00		
			GROW SINGLES - HANDICAP	
]	Pay 1 out of every 5 entries	
			5 Singles at \$6.00 each \$	30.00
1st	\$	30.00	448 - Connor Nelson	
Total	\$	30.00		